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Read the following instructions carefully before you
open the question booklet

1. Aseparate OMR Answer Sheet is supplied for writing
the answers. Writedown your application from no. &
11 digit roll aumber on it as per your Admission Card
and darken the appropriate circles on the answer
sheet.

2. Check thatset code (A,B,C or D) is printed onthe
bookiet and indicate your set code by btackening
the appropriate circle inthe OMR answer sheet.

3. Do not write anything in thisBookiet except the Roll
No. However you can use the blank pages provided
for the roughwork atthe end of this booklet.

4. Start answering when you are toid to do so. Do not
turnthe pages before that.

5. Answer all the questions.Each question has four
probable answers of which one is comrect. You have to
choose the correct one and blacken your choiceinthe
OMR answer sheet by a black/blue ball point pen.

- Use of pencil is not allowed. If your cholce is second
response then answer like this.

80

6. For wrong answer, there is no deduction of marks.
One mark shall be awarded for each camrect
response,.

7. No. Mark will be awarded for a question if a
candidate darkens more than one choice,

8. Retum the Answer Sheet only to the invigilator as
soon as the final bell rings. Ask for another BookI31 lfd
is defective, before you start answering.

9. English version of the question paper will be
considered as final -if any dispute arises in the
translated version.
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. 4

If Republic day was celebrated in 1996 on
Friday, on which day in 2000-Independence

day was celebrated?

A. 'mesday'

B. Monday

C. Sunday '
D. Saturday .

In a leap year 1st January is:Fridny,rthén avhat'.

" isthefirst day of the month of March ?

A.  Tuesday

B. Wednesday
C. Thursday
D. Friday.

Find themissing terminthe series

" 2A11,4D13,12G17,
A 36121
B.. 48521
C. 48123
D. 36A19

What will be the angle between hour hand and
minute hand, if clock shows 8:30 p.m.?”

A, 90

0

B. 75"
c. 60°
D. 85"

The sum of the ages of 5 children born at the
intervals of 3 year each is 50 year. What is the
age of the youngest child?

A. 4year
B. 8year
C. 10year
D.

None of these

i:
5.

4.

. o

’

R 1996 AdE Gaes 80a gaeie ¢ ARA
SRSIQYM, GISEER, 2000:A138 ANAS! §og

6Q6Q CAIRRAAUIRYR ?
A FEReIe

B. 6QFQI&

C. ofeR

D. ¢RI

cAI I EYOEER QipAiaT 1 S10H -OR gRIT
Gf ©6e, Ol6EEM, FIGAIDR. gaf Gaty
CREININGRE ?

A - OIRQIQ

B. QA . -
C. PR

D. ¢eem

PRIGIR gRatad.

2A11,4D13,12G1%;

A e

B}~ 48¥%iLL

C 4T

D 36849 |

5. QI 8:30°p.m. GOHN, CIGZER CRUAU B
fiRc QI FRISATAEE SRIA6RS ?

A 90° :
Bz 175°

. c &

Dp. 85 .

g6 Fed cueuIRea af 6210YRI 5 & daiea
eada a8 so od1 9QOiq aF dRie eAd
6R66 ?

A, 4ed
B. 8ad
c. 1ed
D

el qset
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§. 'Giventha.t:
i Aisthe.lim_therotB
| ii. Cisthe fatherofA
ifi. D is thebrotherofE
iv. E is the daughterofB
Then, uncle oTDis

A. A ' o |

B. B
C.. C
D. B

7. The posifions of how many digits in the 5
number‘i!lm wdll remsin can

aﬁer&eﬁybmmmﬂhmm

A. None

B. One 1.
C. Twe

D. ' Three

{Q.8-10) : In each gquestion find out the nissing -

faciag s

-i.

ss
1.

Ei.

_ iv.
o
A.
B.
.
D.

A
C

AVBI AR
o AR
PEQURRN

Y L

esH B AT EA?

E

ﬂtmmmmmm.
QB0 QUR AMNEEW, mﬁ m @P

achedosiey

A, m%ﬂ’ ‘. o

B.
" C.
D.

SR

’ osril

numbers andietters qeqmmamn
0 :
8.
T — A Y BG40
o i B. UGS
C. Wand64 % TUOR
5 D. X®8

Xand8l

B e e v e L —

m:s-w) gsmmﬂﬁ ﬁmmwm
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10.

11.°

A 1680

A. Jand80 -
B. 0B83

B. Oand83 .
C. Nand74 dw_c. NG§74
D. Pand8s D PESS
A, 18,34 A. 18,34
B. 1421 . B. 14,21
C. 56,84 . o &
D, 12,18 D. 12,18
IfCAT12, thén MAN=2 11. 8 CAT=12,0686MMAN="?
A 14 A 14
B. 24 B. -24
c. 16 c. 16 “
D. 15 D15

(5) SASS - 2017-18 -A



12. If ‘FLARE' is coded &5 21, 15, 26, 9,22, then 12, - ©% ‘FLARE’21, 15, 26,9, 22, 98 6QI8, 8,

how. would' “BRES be coded in the same .oleesm YRIRISISR ‘BREIF §al QIS
languaée? | ' qoude ? ‘
A, 259,22,21,18 A 25,9,22,21,18
B. 5,37,11,19,13 ' B. 5,37,11,19,13
C. 13,19,11,37,5 [ € 13,19,14,375
D. 259,22,18,21 D. 25,9,22,18,21

13. If In a certain code MOTHER is coded a5 | 13 OF 6615 ¢ AT SRINES ‘MOTHER’ NPUIFS

NPUIFS, then ZENITH will be coded as Ol 6916, £, GIEESR  ZENITH 800 618,

ege’?
A. AFOGHI
A. AFOGHI
B BGPKV] - "B. BGPKV]
C. AFOUI C. AFOJUL .
o ' D. AFOGHI .
D. AFOGHI '

o (Q.lq-m)ﬁ"séa!eﬁ:w oig T adis JIgIaHR ¥R
AT I T SRR, %%mmamamaﬂ&ae@m@m

(Q.14-16) Directions + It s an arsow dia'g'mm of 0O 68AR AUER YN QRaIR 26en eBer audl

& -

travel network from Ato L. Thennmheralongsideﬂ:& 20RIa YR TNRG (QBIER) P5e aeal W
arrows indicate the time it takes in hours to cover le ap " m%qq_‘émmms
distance between .two stations. Stuﬂy the diagram

and answerthe following questions,

(".ll‘

14. Which is the shortest path one can la.Je to 14 ‘A% O!Q_ T e TGl Rﬁ@l EIIQ GGEHFSQE!

travel fromAteol? ’ qggg mgq;g@ ?
"A. ACEH1 T Evaed i

. . ] A. ACEH[ . . !
B. ACFGHI . T : ! .
C. ACDGHI - ' S C‘ Accmm
D. ABEH] ' ; ’ : D'

@, .. SMS - 2017-18 4
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16.

answer the following questions.

I A=B, B=C}

ApersontravelstolviaA,C,D, F, Gand Hand
returns via H, E, B and back to A. How many
hours has he travelled?

A.  29hrs
B. 3lhrs
C. 28hss ~
D, 32bss

If critical path is defined as the path which

- takes the hingest time, then which is the-critical

-path between A to1?

A. ABEHI

'B. ACFGHI '
C. ACDGHI

D

ACDFGHI

] {Q.l‘?-?.l)bi_fecﬁons: Analyse the given data a:_z;l

ot

Gﬂflwﬁz E=A}

Aqd A+B+E then

17.

18.

£ iseqgualto

)
A 2
B. 4
C. 1}

D. 32

The value of AM+E’is

A. amultiple of 2 greater than four
B. amultipleof3

C. aprime nur.nber
D

anumber grcatef than 10

14

15.

16.

QSO QY8 A,C,D,F, GBH R 6001 § Ne!
Q6Q \&° H, E, B FRIY 688 A § 6T6a | 6Q
6360 O geetad!

A 29981
B. 3144l
C. 2849l
D. 29%

07 QR0 RAI ANS, /YS! GI6T] #TR 16
6018 Feoen aag 6060 ABI nusa atR
QeR96ae?

A. ABEHI

'B. ACFGHI

C. ACDGHI
D. ACDFGHI™

(Q17-21)F6d6I0R: FaAAIRYE! cd! go] Feqeea
eﬁ 96&]1@ ggefeaaeadal

4 Ha‘!h.

ﬂi?A=B,.,B=Qm.C =p! D=E? E=A,’ o

N TAT A

A+BAE gﬁ,,mszsm

e )

17. B+_z+— QIRIQ2 gAlR 6&9?

18.

A 2

B. 4

c 1

D. 3P
AHE'QFARIERE 6L ?

A 29¢89@,49699
B. 3q¢fea
C.  @eARaTeM

D. 1099QaeM
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19. Which of the foliowing is a multipleof 57

19. FerrIQERET SR GROR

A, 7CH3E 7 .

. . A i‘fc‘&fﬁ

B.. 2D%+6A°

. B. '2D'+6A°
C. - 2E+A+8B - g
C. 2E+A+3B
D. A+2B+6C
. _ D.  A+2B46C
- g 2 %

20. Which ofthe following is the value ofA? 2. FAFRIGARGAISRES ?

A. B s '

A B
B. E"
o B. E
5 .
c. D c. D"
D. C
‘ p. ¢
Q. (21-23): In each of these question , aseriesis | g (21-23): YOOI TY SR o ot TeacKSB
given in which one figure is missing. Find the caCieR SHE mﬁﬁas@éﬁé@mm
anissing figure q‘ym 2
% {gg sﬁ} R QJeAnswer Fagum :(m ﬂﬁ}

V24, )
. [ )
A1
B. 2
C. 3
D. 4
Problem Figure (g9 %)
v X . d
1 7 10
22. . * ixd
A 1 B. 2
C 3 D. 4

catx

1 2
A1
B. 2
C. 3
D. 4
Answer Figure (@e@ @5)
& o |, .,
X X X 10"
N\ 2 Hx ¥
1 3 4
; RIS
A1 B. 2
cC. 3 D.
:18) SMS - 2017-18 -A



Problem Figure (gq £8) Answer Figure (286 28)

A7 B Rleee

A1 1 2 3 4
B. 2 &
c. 3 B, e
D. 4 c. 3
. | _ _ D. 4
Q. (24-27): In gach of these questions, identify the g} (24-27): g604e ag éa SoR Alpe Fiig G78]
odd one from the given choice. : . 539 el '
24,
oA, HardiSof * ‘A.  Hard:Soft
B. Leng:High. TIT B. Long:High
~ C. Sweet:Sour C.  Sweet:Sour
D. Pointed:Bluat D. Poigted:Biu;\t;
2. s et R '
A, 8314 . g
B. 2709 | B. 2709
c. 1315 - .. 1315
D. 2518 ‘ D. 2518
" 2. ' o %. .
A TL,7,3,17 A L7317
B, 61,7135 B. 67,71,3,5
C. . 41,5,3,47 C.  41,53,47
D. 37,14,19,7 D. 37,14,19,7
27. 7
A DﬁqLQZ . A. DXCLQZ
B. PFZUBM B. PFZUBM
C.  XGKNTY €. XGKNTY
. D NWMBHJ' D. NWMBHJ

(9) SMS - 2017-18 -A



28. Inthesequenceofnumbers - - ! 28 FUAGYSITULRACA xQAFMIERER ?

5,8,13,x,34,55,89 the value of x 8 5,8,13,x,34,55,89
A 20 . ' A 20
B. 21 e . "B, 2
D. 29 _ D. 29
'29. Findthemissingtermintheseries- | 20, +%q) G'éy grca sl awdy wel
3-8 7 9 ' . i385 T 9 .. .
4: "‘1 2 3_6: ? ﬁt :’ 4\/3"5:’ ?
12 2
A — A L
164 164&
11 . . _ ) 5 i !
B. 16‘{4- ] z !Gﬁ i
14 s 14 '
C. '1644 e G 164
. Vi .
s Wil is -
D. e - D e

30, In the following number series, 2 number i 30. fe] o gASR caT el R aﬁ"@ '

wmng.mndthethatnq‘mh}qr‘:, . m@qﬂaa
2,3,10,40,172,885,5346. .. . 2,3,10,40,172,885,5346
A 3 A 3

B. 85 B. 885

&5 S C. - 40

b. 172 ‘

D. 172

- o S - 2017-18 <A



31

32..

33.

34.

Find out the missing term in the following

series W-144, 7, $-100, Q-81, O -64

A. V-121
B. U-122 .
C. V-I28
D. U-i2l

In the given series of letters a definite rule is
followed. Determine the mnext .two. letters

following the correct order.

ATKTUBILSVCHMRWDGNQXEFO??

A YZ
B. PY.
C. ZA

D. PL

If P+Q is ‘P’ is the husband of ‘Q’;
P+Q means ‘P’ is the sister of ‘Q” and
P x Q means ‘P’ is the son of ‘Q’,which of the
following shows ‘A’ isthedauéhterol’ ‘B’?

A. CxB+A
B.' B+CxA
C. DxB+C+A
D. A+DxB

“P* walks 10 meters in front and 10 meters to
theright. Then, every time turning to his left he
walks 5, 15 and 15 meters respectively. How far
is he now from his starting point?

A. 2meter
B. 4meter
C. Smeter
D. Smeter

31'

32.

fcjQadmen edaiaye aedq cigeen |
W-144, 2, $-100, Q-81, 0-64

A, V-I21
B. U-122
C. V-128
D. U-121

ff] 286 AKQIER 6AIEY AR Fan 2Raae
FRITQR ! OR 8F LTINS 6F daeell eaf
2s0qogean? |

. AJKTUBILSVCHMRWDGNQXEFQ??

33.

34,

A

A YZ
B. PY
C. ZA
D. Pz

a8, P+Q, ‘P’ ‘Q'Q N 69N QNG
P+Q P ‘Q'Q QA& 601N XN we*
P x Q, ‘P’ ‘Q’, Q@ G@ 69N TXIN, 6660 F

| erIgeReR ‘A’ ‘B alaseieuder

A. CxB=xA

B. ' B+CxA" VY

C. DxB+C+A
D. A:DxB

‘P 216§ 10 icR SIMML ¥E° SIR1G] 10 AR
oml | clasa gfda 6a QR aijg

. SRIEER DUGEA 5, 15 6 15 Fca AR

SEFIR 019 2UA QYR gRg 62 6R6E
QAea g | ' '

A. 2figQ
B. 476
C.  sfie
D. s5HeQ

SMS - 2017-18 -A



"3,

Potato, tomato and vegetable can be

"

o N W
n = o o

|
|

3s.
represented by a pattern. Find the best one

T

36. Study the following ﬁgure and find the .
area which represents the persons who are,
graduate and peon but not satisfied . . - i = oo

-

2R , SAIEEY e afiol o ] arlsaied Gad |
Qe fgasROoRaIfe!]

5 Soq ZRMR @6, G248 o SOV

&5 2GS (IS Peae QI gOINe CoaYR!

' daetqem et

il Not satisfied (ZQ52 &8 )

|

Peon (G2iF)

02

Gradua& (ARNE) L E

U owy
® .m0 T

SIS - 2017-18 -A



37.. In a telephone directory, which among the ., caay cofcerip BedaioRER aq fIn ﬂﬂé_

38.

following names will appear in the middle?

6616 Or Rsa ol
Sajewat, Segvan, Sajevar, Sajewet, Salwar .

ewab ‘ i ? Sajewat, Segvan, Sajevar, Sajéwet, Salwar

A. Sajewat . d
A.  Sajewatl

B. Segvan

: . B. Segvan
C.  Sajevar C. Sajevar
D. Sa_]ewet D. .Sajewet o
Select the ._senes.‘ in Wh{df Jetters are not 38. @ QRIS faa aﬁlﬁlsa'ﬁ\q@' ‘aaaﬁﬂe&
according to a general rule: Qe
B. MORTVX B. MORTVX
C. PRIVXZ C. PRTVXZ
D. ZBDFHJ D. ZBDFH]
In the diagram, the number of those candidates 39 Sefeq aeid Far, eQiae FER e

39.

40.

is given who passed in physics, Chemistry and
English. Total number of ~candidates who
apeared for the examinafion-was 600, Find the
percentage of Candidates who passed in at
least two subjects.

-

- English

A 125
B. 125
C. 1205
D. 12

Rahul ranked ninth from the top and thirty
eighth from the bottom in a class. How many
students are there in the class?

A 45
B. 46
c. 47
D.

(13)

40.

aralese aed caInge!l gilinrea au -
GURE | G018 6ORYN TN TP aEl
600 256t gpF Faacn aand eyl
geacu giadtaeEnes ?

A. 125
B. 125
C. 1205
D. 12

6aIe sgmssi AR QAR AR FA B eaénq
38061 QUIEPER BRI 6g&NER AFQIR 6R6E
2108161288 ?

A 45
B. 46
c. 47
D. 48

SMS - 2017-18 -A



41. . Who are the lliterate females who do notleave | 41, GIFIEQ 9IQ GQRYQI SRBE AZRIPa auy

- l’ Py .
' _m.thgvﬂlage. QRINARN?
3 0\ 7 _ .
: O Village Residents Females
12 6. |8 (giren 91Q egye! ARRY)
4 ' A Tiiterate Women (2880 FiERD
: 5 .
i O sma‘_(@%@i) _
S : [ women (G805
A 4 :
A 4
B. 11
B.- 11
c. 5
‘ C. 5
D. 9
. ) D. 9
42, 1f1.12.91 is the first Sunday then which is t}}e 2. o AR % . 14291 IGQ ase
fourth Tuesday of December 19917 - ' T~
uesday of December MmﬂMQQ_uﬂmmmmﬂ
A 171291 ' |
i - A 171291
B. 241291 . , " .
_ : : B. 24.1291
G 261291 Coa ' '
: C. 264291
D. 31.129i
D. 311291

43. Thereare fivebooksA,B,C,DandE.Thebook 43.. A, B, C, DG E €15f ¢Bi *C’ °BF ‘D’ egeq

C lies above D. The book E is belowa, D is' : 281K @8 ‘A’ ‘Bfé, P’ A’ GT6Q 78 B
above A, Bisbelow E, Which isat the bottom 4 ’ .

BB OeRUR QS ARsN el Ta ?

A E
B. B ; A. E
3
C. A : e B
i C. A
D. C |
; D. C

" (14) SO45 - 2017-18 -A



44. Ina chess tournament each of six players will 44, 6QITY 60Q GFELITRIER BARE CHURIRIEGP

play every other player exacfly once. How puo gooun aaq o6 O] 468 64Rse|
many matches will be played during the :
ghsaifiel Auea afeIa 6q60lf AE,

tournament ?
A 12 semIde|
B 15 A 12
e B. 15
C. 30 '
D 3% c. 30
D. 36
45. At a party, there are 43 ‘persons in all. The 45. 6cIt aifsa E]q_i?l-ﬂ- -4§§?€I 2881 FERIE
number of woman is two more than man bat QU gRER Tl A6aAs 2 YR 78 SR
the number of children is 4 less than men. How el gaeer UNolg 4 *F 1 6Q0IER
- manywomen are there? . . eaceaankniaes ?
A 11 A 1l
B, 13 S . B. 13
c. 11 : ) C. 17
D. 15 ' D. 15

‘ : T e AT QeSO F 69 §aT AIRE
Q. (46-47): In each question, find the water-image of ?‘5,1( 7{3 5 a9 . e i &
the Figure (X) from the given choice 9g% &R Quvkieq GIR | .

46.

Dow>
HW N -
cow»

Toda W N e

N (18) $MS<2017-18 -A



47, .

48.

A 1

A 1
B. 2

B. 2
c. 3

c. 3
‘D. 4

D. 4

Find the number of triangles in the disgralL e ﬁam
given below ‘ i )

A 32

B. 31

c. 30

D. 29

SUS - 2017-18-A



(Q.49-50)Directions

information carefalily to answer the questions.

49.

A cube is coloured red on all of its faces. It is
then cutinto 64 smaller cubes of equal size. The

.&maller cubes, so obtained are now sepaated.

How many smaller cubes will have at.fedst two

" surfaces painted-with fed colour-?
A 4 |
B 18
.C. 32
D. 24

. 50. How many smaller cubes have two surfeces g9,

painted with red colour?
A 24

Bty

C. 12

D. 20

— ke —

(7

: Read the following (Q49-50) Federeh: 9gEFER QR 600 TGl 74

eANGFR ABRCIR ARG

calty afe arm af AR ecse f6
SRIGR! | SITER 61 645 AR ANINCA 6816
6816 4EeR @10 TR RIER! |

6QI6EIE SLI6ARa 2208 QAT I AN ORISR

g0 qaignl?

A 4

B. 18

C. 32

D. 24 : .
SREEIT eRIFEIRER YRS aiY AIl actea g0
eaiem ?

A 24

B. 8

C. 12

D. 20

SMS - 2017-18 -A



